Math 1211: Worksheet #4 Winter 2016

Name: S bLLTLON S At Section:

1. Find the area bounded between y = sin2z and y = 2cos? z on the interval [0, 7].
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2. Find the volume of the solid whose base is the circle z2 + y? = 16, with cross sections
perpendicular to the y-axis being squares.
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3. Let R be the region bounded between the curves > =z —2 and y +z = 4

(a) Sketch R, noting all points of intersection of its bounding curves.
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(b) Give expressions, in terms of definite integrals, for the following. J

Do not evaluate your integrals!
i. The area of R.
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ii. The volume of the solid obtained by revolving R about the line z = —1.
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iii. The volume of the solid obtained by revolving R about the line z = 8.
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iv. The volume of the solid obtained by revolving R about the line y = 1.
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Math 1211: Worksheet #5 Winter 2016

T .
Name: %) A Section:
U4 |
1. Find the area between y = cosz and ¥ = cos 2z over the interval 0 < z < 7.
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6 2. Find the volume of the solid whose base is the region bounded by y = z? and y = /7,
with cross sections perpendicular to the y-axis being semicircles. ,
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3. Let R be the region bounded between the curves y?* =3 —z andy=z — 1

(a) Sketch R, noting all points of intersection of its bounding curves
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@ (b) Give expressions, in terms of definite integrals, for the follqﬁng.

Do not evaluate your integrals!
i. The area of R.

/4/uo.=-j: (% - 2, Jj f 3- g) (J+l)°’j j b ﬂ)ij

64 Hrea = 5 [ J_B—rﬁ.)]élﬂ-f-f [,fé—rx J?_ﬂ)]da.
=j",({m Vo3 )dns [P 2S5 da

@ ii. The volume of the solid obtained by revolving R about the line z = —1.
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iii. The volume of the solid obtained by revolving R about the line z = 4.
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iv. The volume of the solid obtained by revolving R about the line y = 2.

V. a j_';(&l-/gj) [(3-/3’)— (9+0) ] dy S kL0

- I+(jz)2) dﬁ

N R e e (P e A PR

L> (uaer,L

———



Math 1211: Worksheet #05 Winter 2016
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1. Find the area between y = sinz and y = sin 2z over the interval 0 < z < . 1 b= 9{,\ X
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2. Find the volume of the solid whose base is the circle 22 + y? = 9, with cross sections
perpendicular to the y-axis being equilateral triangles.
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3. Let R be the region bounded between the curves 4> =z — 1 and y =z — 3.

(a) Sketch R, noting all points of intersection of its bounding curves.
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(b) Give expressions, in terms of definite integrals, for the following.
Do not evaluate your integrals!

i. The area of R.
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ii. The volume of the solid obtained by revolving R about the line z =
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iii. The volume of the solid obtained by revolving R about the line z = 6.
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iv. The volume of the solid obtained by revolving R about the line y = 2.
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